
2 1 0 1 2
Position (x)

4

3

2

1

0

1

2
Po

te
nt

ial
 E

ne
rg

y
(a)

1.5 1.0 0.5 0.0 0.5 1.0
z

0.0

0.5

1.0

1.5

De
ns

ity

(b) unintervened
intervened

2.0 1.5 1.0 0.5 0.0 0.5 1.0 1.5
Position (x)

0

5

10

Ve
loc

ity
 (v

) (e)y_hat < 0 y_hat > 0

0 20 40 60 80 100
Time Steps

0.0

0.2

0.4

0.6

Om
eg

a 
W

eig
ht

s (d)position
velocity

0.0

0.5

Ta
u 

W
eig

ht
s (c)position

velocity

0 20 40 60 80 100
Time Steps

2

1

0

1

Po
sit

ion
 (x

)

(h)

2

1

0

1

Po
sit

ion
 (x

)

(g)

2

1

0

1

Po
sit

ion
 (x

)

(f)


